

Probability

1
You have been asked to design a new child’s toy for preschool aged children.  

You have decided on a simple multicoloured toy doll.  The doll is made up of 4 parts :










head

  








   upper body










legs










   feet

You have decided that each body part must be a different colour to the other body parts.  However you only want to use the following 4 colours :  red, green, blue and black in your doll.

One possible design for the doll is





Head

:
green





Upper body
:
blue





Legs

:
red





Feet

:
black

a) With the blocks provided show all the remaining colour combinations that the doll could be.

b) State the total number of colour combinations for your doll.

2 If you were to choose a card from a complete set, what would be the probability of picking the following :

a)
an ace, p (ace )   =

b) a black ace, p (black ace )  =

c) a diamond p (diamond) =

d) picking a diamond on your first pick replacing that card then picking

an ace on your second pick  p (diamond n ace )  =

3 In the game of “differences” punters place bets on what they think the difference of the 2 dice being rolled will be.


eg.
If a 

and a                             are rolled, the difference is 3.

a) Complete the grid to show all the different possible outcomes of throwing 2 dice.

Dice 1

	
	-
	1
	2
	3
	4
	5
	6

	
	1
	
	
	
	
	
	

	
	2
	
	
	
	
	
	

	dice 2      
	3
	
	
	
	
	
	

	
	4
	
	
	
	
	
	

	
	5
	
	
	
	
	
	

	
	6
	
	
	
	
	
	


b) hence, calculate the following probabilities

p (difference is 0)
=

p (difference is 1) 
=

p (difference is 2)
=

p (difference is 3)
=

p (difference is 4)
=

p (difference is 5)
=

p (difference is 6)
=

4
a)
Using a tree diagram show how many 3 digit numbers can be formed from the set



{2, 3, 4, 5}


b)
from the same set  :  {2, 3, 4, 5} show how many 3 digit numbers can be formed.

5
a)
Calculate the probability of rolling 2 consecutive sixes on a dice :



b)
Calculate the probability of rolling a 2 on a dice then tossing a head on a coin



p (rolling a 2 n tossing a head )   =

6
a)
If a domino is randomly chosen from this incomplete set, what is the probability it has six            



dots on it ?


b)
If a domino is chosen from the set in (a) what is the probability it has an odd number of 



dots on it ?
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